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PAPER -1

Note : ¢ This paper contains Sixty (60) multiple choice questions, each question carrying
two (2) marks.

* Candidate is expected to answer any Fifty (50) questions.

* In case more than Fifty (50) questions are attempted, only the first Fifty (50) questions
will be evaluated.

1.  Which of the following is the highest level of cognitive ability ?
(1) Knowing (2) Understanding (3) Analysing (4) Evaluating

2. Which of the following factors does not impact teaching ?
(I) Teacher’s knowledge
(2) Class room activities that encourage learning
(3)  Socio-economic background of teachers and students
(4)

Learning through experience

3.  Which of the following statements about teaching aids are correct ?
(a) They help in retaining concepts for longer duration.
(b) They help students learn better.
(c) They make teaching learning process interesting.
(d) They enhance rote learning.

Select the correct answer from the codes given below :

(1) (@), (b), (c) and (d) (2)  (a) (b) and (c)
(3)  (b), () and (d) 4)  (a) (b) and (d)
4.  Techniques used by a teacher to teach include :

(a) Lecture

(b) Interactive lecture
() Group work

(d) Self study

Select the correct answer from the codes given below :

(1) (a), (b) and () (2) (@), (b), (c) and (d)
(3)  (b), (c) and (d) 4) (a), (b) and (d)
oo [ HMHRCRMIRITRA 2
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YU - 1

fder: o U YA § 16 (60) Tg-Tawed i U €1 YA Y9 F q (2) 3 ¥
o 3ol o) g WY TR (50) T % IW A T
o Ifc ToImd (50) ¥ A e % SR G391 9Uw v (50) YA & S WA |

1. fr=ifed & @ 9 gremdt G S 3wy TR ?
(1) S (2) HHS () fowwo w1 (4) AR wE

2. feifRd # © SA-W q@ e sl gwifed & a2
(1) Terers 1AM
(2) T i Ut wfafafeEr SitEe | St w §
3) fhamhl iR fornfefai w1 wmmfoen-anfeie geyfa
)

(
(4) 3TVE g e
3. oo gere wmmft & 9r # feafafed § 9 F-9 w98 €2
(a) o HHTUT YRUT FHI A HHY Toh FAC WA § HIE HA ¢ |
(b) o foenfer =1 oT=st TE 9 ¥ § 738 &l 2
() o foreror 7R siferma wfshan =it I It 1
(d) o TH HEA HI IR I g <t

= feu 2 | HE ST A =TT B
(1) (), (b), (c) &R (d) 2) (), (b) R (c)
(3) (b), (c) 3R (d) (4)  (a), (b) R (d)

4. o1 g0 SAATOH & AU ST T SH dTelt dehe § I @
(a) =AM
(b) UREANER TR eTUTiid =ame
(c) wmfE Fr
(d) w@rEd
9 feu %l ¥ T& IW H1 I HIfWC
(1) (), (b) 3R (0) 2 (@), (), () R (d)
(3)  (b), () ¥R (d) 4) (), (b) IR (d)
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5.  Achievement tests are commonly used for the purpose of :
(I) Making selections for a specific job
(2)  Selecting candidates for a course
(3) Identifying strengths and weaknesses of learners
(4) Assessing the amount of learning after teaching

6. A good teacher is one who :

(1) gives useful information

(2) explains concepts and principles
(3) gives printed notes to students
(4) inspires students to learn

7. Which of the following statements regarding the meaning of research are correct ?

(a) Research refers to a series of systematic activity or activities undertaken to find out the
solution of a problem.

(b) It is a systematic, logical and an unbiased process wherein verification of hypothesis,
data analysis, interpretation and formation of principles can be done.

(c) Itis an intellectual enquiry or quest towards truth.

(d) It leads to enhancement of knowledge.

Select the correct answer from the codes given below :

(1) (a), (b) and (c) (2)  (b), () and (d)

(3) (@), (c) and (d) 4) (@), (b), () and (d)

8. A good thesis writing should involve :
(a) reduction of punctuation and grammatical errors to a minimum.
(b) careful checking of references.

(c) consistency in the way the thesis is written.

(d) a clear and well written abstract.

Select the correct answer from the codes given below :

(1) (@), (b), (c) and (d) (2)  (a), (b) and (c)
(3) (@) (b) and (d) 4 (b), (c) and (d)
oo [ HMHRCRMIRITRA ‘
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5.  Sudfsy qdteron g fre # | forass fore e fee s €2
(1) foreht fafire 0 &g =09 &0 & fag
(2) e qreTshy 3g IR % =@ & fag

(3) HIEA el & "o 9 gad Y&l i 9geH & o

(4) Toreror & qeETq WG i A % Jodied & fag

6. T ool foew 9w T, W ¢
(1) TR YA a1
(2) Gwheaiel AR fagidl s TR wa T
(3) forenfofai =1 gfeq ew <1 T
(4) BEI ® W@ & foae Afafa w3 T

7. 'oqEuE’ WS 1 e & Geiy B freAfafed § § Fi9-9 w9 9§ 2
(a) SATHYM 1 AT TRET THS o FHEM H1 Iq1 TH & (AC YE hl T8 Faed wrIwHa
31ET FAHAT i T I ¥ |

(b) TE TH Fafed, TMensh AR Froqet ishan © foad aReea &1 9leo, sfiswel &1 fowery,
fagidl =t s 3R =1 ST S Hehal |

() IT T A % Ufd digeh Sira st @i 7

(d) TE9 IEH gig Tt B

Frefafed 2 9 &1 W &1 =T97 ST
(1) (a), (b) W (c) (2)  (b), (0) 3R (d)
3) (@) () 3 (d) 4) (), (b), (c) R (d)

8. TS <8 WY Yy oA § i €
(a) Torm fog & #ut o) gFaw =T swfgai|
(b) T HT WEHIES W |
(c) ¥y gy ored § frawn|
d) T 3R oT=8t e ¥ foran ganm IR |

T feu 2 A TEt S| 1 T HI
(1) (@), (b), (c) &R (d) 2) (@), (b) ¥R (c)
3) (a), (b) &R (d) 4) (b, (0) 3R (d)
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9.  Jean Piaget gave a theory of cognitive development of humans on the basis of his :
(1) Fundamental Research (2) Applied Research
(3) Action Research (4) Evaluation Research

10. “Male and female students perform equally well in a numerical aptitude test.” This statement
indicates a :

(1) research hypothesis (2) null hypothesis

(3) directional hypothesis (4) statistical hypothesis

11. The conclusions/findings of which type of research cannot be generalized to other
situations ?

(1) Historical Research (2) Descriptive Research

(3) Experimental Research (4) Causal Comparative Research

12.  Which of the following steps are required to design a questionnaire ?
(a) Writing primary and secondary aims of the study.
(b) Review of the current literature.
(c) Prepare a draft of questionnaire.
(d) Revision of the draft.

Select the correct answer from the codes given below :

(1) (a), (b) and (c) (2)  (a), () and (d)
(3)  (b), (c) and (d) 4)  (a), (b), (c) and (d)
oo [ HMHRCRMIRITRA :
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9. frfafed § ¥ 79 eMUR W = == 3 9Hd faw™ 1 9ameds g fean ?

(1) Wifas sTHY™ (2) IR STEYE

(3) Torarcas THYM (4) THHRA FATHM

10. ‘'UH HEcHE SAfvamd qhe § qud qu1 afeen foenef tw 99 yevE & €17 a8 wed e o

9 forgen! 3fTd tar €2
(1) STIEY™ qished (2) I AR
(3) fewredes aftshed (4) WiEAHRE IREHSA

11. fr=fafed § @ fF9 yoR & oqEy™ & gy /frswl o1 o= feafal @ amm=iiea & fHan s

THAT 77
(1) Ufderae e (2) OIS AT
(3) IR TTHYM (4) HROMHE T STTHYM

12. TH-YIAE IR FG T99 ffafad 3 @ SH-9 SeH ST SH i ATaIehdl § 2

AT & Ttae IR fgdtas 2w aEH |

F fow 2 B wE IR F o F
(1) () () &R () @ () (© W@
() (®) (© ) (@), (), (©) 3R (d)
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Read the following passage carefully and answer questions 13 to 18.

Story telling is not in our genes. Neither it is an evolutionary history. It is the essence of what
makes us Human.

Human beings progress by telling stories. One event can result in a great variety of stories
being told about it. Sometimes those stories differ greatly. Which stories are picked up and repeated
and which ones are dropped and forgotten often determines how we progress. Our history,
knowledge and understanding are all the collections of the few stories that survive. This includes
the stories that we tell each other about the future. And how the future will turn out depends
partly, possibly largely, on which stories we collectively choose to believe.

Some stories are designed to spread fear and concern. This is because some story-tellers feel
that there is a need to raise some tensions. Some stories are frightening, they are like totemic
warnings : “Fail to act now and we are all doomed.” Then there are stories that indicate that all
will be fine so long as we leave everything upto a few especially able adults. Currently, this trend
is being led by those who call themselves “rational optimists”. They tend to claim that it is human
nature to compete and to succeed and also to profit at the expense of others. The rational optimists
however, do not realize how humanity has progressed overtime through amiable social networks
and how large groups work in less selfishness and in the process accommodate rich and poor, high
and low alike. This aspect in story-telling is considered by the ‘Practical Possibles’, who sit between
those who say all is fine and cheerful and be individualistic in your approach to a successful
future, and those who ordain pessimism and fear that we are doomed.

What the future holds for us is which stories we hold on to and how we act on them.
Answer the following questions :

13. Our knowledge is a collection of :
(1) all stories that we have heard during our life-time
(2) some stories that we remember
(3) a few stories that survive

(4) some important stories

14. Story telling is :

(1) an art (2) a science
(3) in our genes (4) the essence of what makes us human
o [[IRHFRIRIEI RN ;
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15. How the future will turn out to be, depends upon the stories ?
(1) We collectively choose to believe in
) Which are repeatedly narrated
(3) Designed to spread fear and tension
)

Designed to make prophecy

16. Rational optimists :
(a) Look for opportunities.
(b) Are sensible and cheerful.
(c)  Are selfishly driven.
Identify the correct answer from the codes given below :
(1) (@), () and (0) (2) (a)only
(3) (a) and (b) only (4) (b) and (c) only

17. Humans become less selfish when :
(1) they work in large groups (2) they listen to frightening stories

(3) they listen to cheerful stories (4) they work in solitude

18. ‘Practical Possibles” are the ones who :
(1) follow Midway Path (2) are doom-mongers

(3) are self-centred (4) are cheerful and carefree

19. Effectiveness of communication can be traced from which of the following ?
(a) Attitude surveys
(b) Performance records
(c) Students attendance
(d) Selection of communication channel

Select the correct answer from the codes given below :

(1) (@) (b), (c) and (d) (2)  (a), (b) and ()
(3)  (b), (c) and (d) 4)  (a), (b) and (d)
oo [ HMHRCRMIRITRA 1
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15. eIl o SR T AR 9ot el g ?
(1) 0 9mfesd &9 9 favard o1 =97 L 2 |
(2) S IR-IR FE S B |
(3) W IR e e & fo fowfua wt S €
(4) wfoss sam & fau fasfoa =t s §1

2
3

16. fooet smemEmT
(a) STl 1 A H @ ¥ |
(b) HATIN IR TE @A €

() T ¥

T feu %2l § w2 s ST

(1) (@), (b) IR () (2) 9 (a)

(3) e (a) ¥R (b) (4) e (b) 3R (o)

17. e %8 el 21 € v
1) FIS T § FE FA Tl (2) o STEA HEEr g ¥
(3) & sTHeERT FEIfTE g 7 | (4) 9 THA FH F T

18. ‘foramcns G’ 9 € S
(1) TeFER W =ed § (2) foTm1 1 B @l F A B B
(3) H-Hfd A T (4) T AR JIRETE B R |

19. fr=fafed & 4 fFed gevon S gumeEsierd w1 9a1 @ S gl § 2
(a) SAfvrefa welamm
(b) = froareA e
(c) Tomnfei =t Iufeafa
(d) HEEU HIEAH R AT

T fou #2i @ € W 1 = FfE
(1) (@), O), () W (d) 2 (@) (b) ¥R ()
(3)  (b), () ¥R (d) 4) (), (b) ¥R (d)
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20. Assertion (A) : Formal communication tends to be fast and flexible.
Reason (R) : Formal communication is a systematic and orderly flow of information.

(1) Both (A) and (R) are correct and (R) is correct explanation of (A)

(2) Both (A) and (R) are correct, but (R) is not correct explanation of (A)
(3)  (A) is correct but, (R) is false
(4) (A) is false but, (R) is correct

21. Which of the following are the characteristic features of communication ?
(a) Communication involves exchange of ideas, facts and opinions.
(b) Communication involves both information and understanding,.
(c) Communication is a continuous process.
(d) Communication is a circular process.
Select the correct answer from the codes given below :
(1) (a), (b) and (0 (2) (a), (b) and (d)
(3) (), (©) and (d) 4) @ ®), (© and (d)

22. The term “grapevine’ is also known as :
(1) Downward communication (2) Informal communication

(3) Upward communication (4) Horizontal communication

23.  Which of the following is not a principle of effective communication ?
(1) Persuasive and convincing dialogue  (2) Participation of the audience

(3) One-way transfer of information (4) Strategic use of grapevine

24. In communication, the language is :
(1) The verbal code (2) Intrapersonal
(3)  The symbolic code (4) The non-verbal code

25. The next term in the series is :
2,5,9,19, 37, ?
73 75 3) 78 (4) 80

(1) (2)
oo [ HMHRCRMIRITRA 1
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afwerea (A) ¢ 3T g afika SR a=tern e =ifeT |

T (R) ;I T SR HE U g SR Eted yeE €l
(1) <F (A) 3R (R) T § 2R (R), (A) FT & SRR |

(2) T (A) SR (R) ¥ & G (R), (A) FT T TR T €

(3) (A) ¥H T, T (R) 39A |

4) (A) 39 T, T (R) TA &1

freAfafea § 9 & Teywer ST e € 2

(a) TEU ¥ faar, qeall o Hdl 1 eTeH-YeH Wi ¥
(b) EEITO H AT SR FHSA S| WA B |

() EHIY T Had Uk B

(d) T TH g AR

e faw 7Y 2 @ TE W BT TEH I
(1) (a), (b) 3 (c) 2)  (a), (b) 3R (d)
(3) (b), (0) R (d) 4) (@), (b), (c) R (d)

‘Yoared’ (SrEeran) ves freifend | 9 frg w9 H ot S S ® 2
(1) 9 = R §9R (2) HTEE FER
(3) W F IR HAR (4) &fIs §9r

frreferfaa & @ i gurel Teor o fagr 7@ &2
(1) JIIHR IR fovamcaes i (2) Sl &l ariert

(3) I I ThaThN ST (4) UUSTET T WHITAR ST
FEywor H T e ©
(1) afas® Fe DI RERIESED
(3) TdIHTHE Fe (4) TR afa® Fe
9 G i STl &A1 B 2
2,5,9,19,37,?
73 75 (3) 78 (4) 80

1) (2)
oo [ HMARCAMIRITEAN s riro
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26. In certain code MATHURA is coded as JXQEROX. The code of HOTELS will be :
(1) LEQIBP (2) ELQBIP (3) LEBIQP (4) ELIPQB

27. One day Prakash left home and walked 10 km towards south, turned right and walked
5 km, turned right and walked 10 km and turned left and walked 10 km. How many km will
he have to walk to reach his home straight ?

1) 10 @) 20 3) 15 4) 30

28. A girl introduced a boy as the son of the daughter of the father of her uncle. The boy is
related to the girl as :

(1) Brother (2) Uncle (3) Nephew (4) Son

29. In an examination 10,000 students appeared. The result revealed the number of students

who have :

passed in all five subjects = 5583
passed in three subjects only = 1400
passed in two subjects only = 1200
passed in one subject only = 735
failed in English only = 75
failed in Physics only = 145
failed in Chemistry only = 140
failed in Mathematics only = 200
failed in Bio-science only = 157

The number of students passed in at least four subjects is :

(1) 6300 2) 6900 3) 7300 (4) 7900

30. At present a person is 4 times older than his son and is 3 years older than his wife. After
3 years the age of the son will be 15 years. The age of the person’s wife after 5 years will
be :

1) 42 ) 48 (3) 45 (4) 50

31. If we want to seek new knowledge of facts about the world, we must rely on reason of the
type :

Inductive

(1)
oo LI

Deductive (3) Demonstrative (4) Physiological

()
v 1
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26. fodt #e § MATHURA &1 JXQEROX f7&fd =%a1 €, HOTELS fowe gr1 f&fuad &mar 8 2
(1) LEQIBP (2) ELQBIP (3) LEBIQP (4) ELIPQB
27. U for WeRTe1 =R @ a1 © @R <feror § 10 for . <reran €, <€ gear @ iR 5 R . =reran 8, g ge
% 3R 10 fom. =, <reran & iR sd geax 10 f6. 90, =ear &1 T o179 =R vg=m & forw <8 fohe fe .
T T ?
1) 10 2) 20 3) 15 4) 30
28. & ASH! A T AISH 1 IR fo1 foh 93U iwal & fuat &t o2t &1 ASHT €, dql AASH! Fl ASH
b fedn gan ?
1) o (2) 3wd (3) ST (4) &
29. & W& | 10,000 foreneff 431 whian wat =ifod 3 W foenfeEi 1 €@ 39 TR T
it =t Tl ® Thet B aTel shi G = 5583
1 fawel 5 gwa 29 Al 5t g = 1400
< fowl & I%at §F aTell i & = 1200
e fowg | 9wa 81 el S HeA = 735
hae SISt fowg # oTwa g9 aTell sl Ge = 75
Faa Hifqe favg § et g1 9Tl i g = 145
Fad WA foma § sTawet g9 9Tl st G = 140
Shad T fawa § ST%Ra B a1l Sl & = 200
had St foaa fooa § oT9ha 8 Tl ol 9& = 157
%A ¥ 4 =R fawdi § gwa 21 ot faenfedat w1 gen 2
(1) 6300 (2) 6900 (3) 7300 (4) 7900
30. oA H U SAfH 3T o ¥ TR A oSl § SR T Tt ¥ 3 WA 991 |, 3 WA & oS IHF 9 Fi
3 15 9T B ST | 36 Al i Il bl T 5 A1 a1 fehat gt 2
(1) 42 (2) 48 (3) 45 4) 50
31. afc &d fava & IR H Tl i T8 BRI UTH FHIA i HIRT AL al 774 | § fh9 goR &t 7o
T T A2
(1) STHATCHS ) TS (3) YSRAACHE (4) TR o Frart
oo [N WA NANRIAIRERT 1 Pro.
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32. A deductive argument is invalid if :

(1) Its premises and conclusions are all false
(2) Its premises are true but its conclusion is false
(3) Its premises are false but its conclusion is true
(4) Its premises and conclusions are all true

33. Inductive reasoning is grounded on :
(1) Integrity of nature (2)  Unity of nature

(3)  Uniformity of nature (4) Harmony of nature

34. Among the following statements two are contradictory to each other. Select the correct code
that represents them :

Statements :

(a) All poets are philosophers.

(b) Some poets are philosophers.

(c) Some poets are not philosophers.

(d) No philosopher is a poet.

Codes :

(1) @and(®) (2 @and(d () @and( (4 (b)and (o)

35. Which of the codes given below contains only the correct statements ? Select the code :
Statements :
(a) Venn diagram represents the arguments graphically.
(b) Venn diagram can enhance our understanding.
() Venn diagram may be called valid or invalid.

(d) Venn diagram is clear method of notation.

Codes :
(1) (a), (b) and (c) (2)  (a), (b) and (d)
(3)  (b), (c) and (d) (4) (a), (c) and (d)

36. When the purpose of a definition is to explain the use or to eliminate ambiguity the definition
is called :

Stipulative Theoretical (3) Lexical (4) Persuasive

||||HII!IHHI\||\|H||\|H|\||H||H| | ||!|HIII\II\IHIIHIIIHHN 1

[=))

WWW a?27Subiects com


www.a2zSubjects.com
www.a2zSubjects.com

32.

33.

34.

35.

36.

www.a2zSubjects.com

e AT I ey B At

(1) 5% SMUR a1 iR feed |eft sroe §
(2) TEF TR A Tcd W R o ¥
(3) TUF YR AT A T Fred T ¥
(4) TEF YR I AR Frewd gt w1

ANTHATCHS qeh TeifRd § 9 forg 9X emenfia &2
(1) TPl = sTEvsd (2) WPfd I Thal
(3) WHfd T THETA (4) W H wETE

Frefafed wedl § 9 € THh-ga & foiel 81 911 e 997 &RT S 98t S &1 giafae a3

(a) @t wfa grife 3@ §)

(b) TS Hid TS T T

(c) P Hid IRIH Tl 8 |
(d) = st IRITH Hd T B

(1) (a) &R (b) 2) (a) 3R (d) 3) () &R (o) (4)  (b) &R (o)

T TG Th! hl ST €1 § YA St €
1 TG AR HS 1 e Tohdll ¢ |

<) S ARG I AY YT Y gl N kel ¢ |
d) O NG Hhd-TSq P T IR T |

S URYT 1 e STAN I TIR FIAT AT STETRAT IS HIA P BT Bl © a TH IR
FHEAT T :
(1) SATHTHE 2) Hsif<w (3) wmfsgeh (4) TEFRR

oo [ HMARCAMIRITEAN 1 Pt
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Question numbers 37 to 42 are based on the tabulated data given below :

A company has 20 employees with their age (in years) and salary (in thousand rupees per month)
mentioned against each of them :

Age Salary Age Salary
S.No. | .. (in thousand rupees S.No. | .. (in thousand rupees
(in years) (in years)
per month) per month)
1. 44 35 11. 33 30
2. 32 20 12. 31 35
3. 54 45 13. 30 35
4. 42 35 14. 37 40
5. 31 20 15. 44 45
6. 53 60 16. 36 35
7. 42 50 17. 34 35
8. 51 55 18. 49 50
9. 34 25 19. 43 45
10. 41 30 20. 45 50

37. C(lassify the data of age of each employee in class interval of 5 years. Which class interval of
5 years has the maximum average salary ?

(1) 35 -40 years (2) 40 - 45 years (3) 45 - 50 years (4) 50 - 55 years

38. What is the frequency (%) in the class interval of 30 - 35 years ?
(1) 20% (2) 25% (3) 30% (4) 35%

39. What is the average age of the employees ?
(1) 40.3 years (2) 38.6 years (3) 47.2 years (4) 45.3 years

40. What is the fraction (%) of employees getting salary = 40,000 per month ?
(1) 45% (2) 50% 3) 35% 4) 32%

41. What is the average salary (in thousand per month) in the age group 40 - 50 years ?
(1) 35 (2) 425 (3) 40.5 (4) 36.5

42. What is the fraction of employees getting salary less than the average salary of all the
employees ?

1) 45% 2) 50% 3) 55% 4) 47%

(1) (
oo [ HMHRCRMIRITRA 1

@

WWW a?27Subiects com


www.a2zSubjects.com
www.a2zSubjects.com

www.a2zSubjects.com

U9 WEAT 37 W 42 ek o fed T Soeiiehd 9T WX el § 1
Teh HF | 20 FHHEM &1 3761 39 (Iuf §) 3R 37 (ufd 918 e9R 793 §) e fe=n man #)

- 3 e - 3 aad
¥ (it | (e ) [ | (F6E) | (uf e s )
1. 44 35 11. 33 30
2. 32 20 12. 31 35
3. 54 45 13. 30 35
4. 42 35 14. 37 40
5. 31 20 15. 44 45
6. 53 60 16. 36 35
7. 42 50 17. 34 35
8. 51 55 18. 49 50
9. 34 25 19. 43 45
10. 41 30 20. 45 50
37. U HUAR Fi 3H o SThe HI 5 T & T & o H Jiiehd i | e a7 st | Afeepad

SAred o yefeia § 2
(1) 35-40ad (2) 40 - 45 94 (3) 45-50 T (4) 50 -559d

38. 30-3599f % o A H A (%) FE?

1) 20% 2) 25% (3) 30% 4) 35%
39. HUEIRET wt iad 3% F1 7 ?

(1) 403 a4 (2) 38.6 94 (3) 47294 (4) 453 94
40. FHHEN 1 fomam AW (%) 9fa A = 40,000 ST WH FR @I ?

(1) 45% 2) 50% (3) 35% 4) 32%
41. 40-50 39 % o7 g # f9q dad (Ufd A8 T9R ¥93 §) fha 82

(1) 35 2) 425 (3) 405 (4) 36.5
42, FHU=IET H1 foRa 9H FA HHARE F THd IqT § FH IqT oAl § 2

(1) 45% 2) 50% (3) 55% 4) 47%
oo [N WA NANRIAIRERT 1
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43. Encoding or scrambling data for transmission across a network is known as :
(1) Protection (2) Detection (3)  Encryption (4) Decryption
44. Which of the following is not an output device ?
(1) Printer (2) Speaker (3)  Monitor (4) Keyboard
45. Which of the following represents one billion characters ?
(1) Kilobyte (2) Megabyte (3) Gigabyte (4) Terabyte
46. Which of the following is not open source software ?
(1) Internet explorer (2) Fedora Linux
(3) Open office (4) Apache HTTP server
47. Which one of the following represents the binary equivalent of the decimal number 25 ?
(1) 10101 (2) 01101 (3) 11001 (4) 11011
48. Which is an instant messenger that is used for chatting ?
(1) Altavista (2) MAC (3) Microsoft Office (4) Google Talk
49. In which of the countries per capita use of water is maximum ?
(1) USA (2) European Union
(3) China (4) India
50. India’s contribution to total global carbon dioxide emissions is about :
(1 ~3% (2) ~6% 3) ~10% 4) ~15%
51. Two earthquakes A and B happen to be of magnitude 5 and 6 respectively on Richter Scale.
The ratio of the energies released Eg/E, will be approximately :
(1 ~8 (2) ~16 3 ~32 (4) ~o4
52.  Which of the following combinations represent renewable natural resources ?
(1) Fertile soil, fresh water and natural gas
(2) Clean air, phosphates and biological diversity
(3) Fishes, fertile soil and fresh water
(4) Oil, forests and tides
53. In the recently launched Air Quality Index in India, which of the following pollutants is not
included ?
(1) Carbon monoxide (2) Fine particulate matter
(3) Ozone (4) Chlorofluorocarbons
S 1 T —

WWW a?27Subiects com


www.a2zSubjects.com
www.a2zSubjects.com

www.a2zSubjects.com

43. 9% & AR-UR AHYH % fAU ATHS Fl FHedg HET AT TSHE HIAT F1 HEAI § ?
(1) g (2) STITHA (3) ISR 4) famrettm
44. Trefafed & @ wR-wt frig gfa 98 22
1) fI= (2) EHRT (3) HiHeX (4) HI-9E
45. Trfafed § @ -9 & o9 e’ &1 gfafaa st 82
(1) fewcremse (2) HETEE (3) firmemse (4) XEmEE
46. frfafEd § 9 & fFe® @a A T8 ¢ 7
(1) 3T TR 2) THEN AR
(3) T SATfRE 4) TTR TE A & f wR
47. Trefafed § @ «F-9 emea 9@ 25 F1 Led FamHe (T sfaecic) 72
(1) 10101 2) 01101 (3) 11001 (4) 11011
48. Sraed (AfET) F faw HF-a1 3 HAW ygFd a1 § 2
(1) et (2) THTH (3) WEHETFR AfRE (4) A R
49. fwu 3w ¥ ufa =Afe o 3w sifesras €2
1) FWL (2) Fww g (¢)  =. (4) w4
50. FA AfYaF FeE SEIATFAEE Scqsl § IR T ANEH AT foha € 2
1) ~3% 2) ~6% (3) ~10% 4) ~15%
51. T &9 A IR B Rl @ha T FHAM: 5 3R 6 afemor & oy Scfsia Seitstl o1 STUIa. a1
(Ep/E,) fohar zrm 2
1) ~8 2) ~16 3B) ~32 4) ~ 64
52. Trefafed § @ ®F-91 G Tdeoig Thfds GO Yohe Hd © 2
(1) 3R eI, AT S AR Urhfas i
(2) = 91, Wiehed AR 39 fafasgar
(3) wsfaar 3ok gar iR A 5@
(4) T, T IR R
53. 9RA H 7 & ° gRed foRd T g e ekl |, frefafed § 9 s ugues aftafad @ e
?
?ET% FHla HHAFIEE (2) Heu fafas (Wférgere) uared
(3) N (4) FARTRHE
oo [NRIMEAOATACRER Z 0.
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54. The factors which are most important in determining the impact of anthropogenic activities
on environment are :

(1) Population, affluence per person, land available per person

(2) Population, affluence per person and the technology used for exploiting resources
(3)  Atmospheric conditions, population and forest cover
(4) Population, forest cover and land available per person

55. The session of the parliament is summoned by :
(1) The President
(2) The Prime Minister
(3) The Speaker of the Lok Sabha
(4) The Speaker of the Lok Sabha and the Chairman of the Rajya Sabha

56. Civil Service Day is celebrated in India on :
(1) 218t April (2) 24t April (3) 215 June 4) 7% July

57. The South Asia University is situated in the city of :
(1) Colombo (2) Dhaka (3) New Delhi (4) Kathmandu

58. The University Grants Commission was established with which of the following aims ?
(a) Promotion of research and development in higher education
(b) Identifying and sustaining institutions of potential learning
(c) Capacity building of teachers
(d) Providing autonomy to each and every higher educational institution in India
Select the correct answer from the codes given below :
(1) (@), (b), (©) and (d) (2) (a), (b) and ()
(3) () (©) and (d) (4) (a), (b) and (d)

59. The Gross Enrolment Ratio (GER) in institutions of higher education in India at present (2015)
is about :

(1) 8 percent (2) 12 percent (3) 19 percent (4) 23 percent

60. The total number of central universities in India in April 2015 was :
(1) o8 (2) 14 3 27 (4) 43

-00o0-
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54. YAV W HHAERHTaS foRansti &1 g fruifd w3 § S &wRe waifus qgage § 2

(1) SHEeE, 9id Safed greadl, gfd safed YfH Suersud

(2) e, 9fd A geaar SR Sl 1 Qe HId o T TN T ST ATt et
(3) THew feufqal, SEEn 3R TSt
(4) SEE, SAEsed iR Ui S ft Sueree

55. Og &1 97 freiferd § & foreeh gR1 oTga fora s € 2
(1) Tgafa
(2) HEEA

(3) ARG H TR

(4) ARG T TR T TSHFHT T UL

56. WRd ¥ fafow gfdy feaq 7amn wmar ® -
(1) 21 3 H (2) 24 YA HI (3) 2153 & (4) 7 S[TE I

57. < U3 ufyrEn gfafddt freifea # @ fhw e 7 erafeea ®72
(1) i (2) @RI (3) % foodt (4) HISHTE

58. favafomrers TaM SR 1 FreAifed § § f il % fa nfsq fwan m o ?
(a) STTHYM & A iR 3= foren & fawm & fag
(b) HWEARIA SATETH ATl LA i 959 Td 3¢ 361 &9 H ¢ W@ & fag
(c) Torereri =1 aean fmion
(d) YRG & 3= a7 &9 *I IAH HEAT Hl WET ISH FH * g
FreAiferd e =1 TRl § HEl 3T T FFT HIWT :
(1) (@), (b), (© (@) 2 (@) (b) (o)
(3)  (b), () ¥R (d) 4) (), (b) IR (d)

59. IAHM (2015) § RA 1 oA foreTor Geensti H Tehel AR ST (GER) ST HT T 2
(1) 9me (8) Ufvm™  (2) 9RE (12) ¥fawm  (3) &0« (19) Ufawd (4) ds9 (23) gfaem@

60. 39 2015 B wRd ¥ ot F=ig fovafaae™ 9 -
(1) 08 2) 14 3) 27 4) 43

-00o0-
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Space For Rough Work
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